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QID : 1- Inthefollowing question, select the related word from the given alternatives.
Smoke : Pollution: : Fire: ?
Options:
1) Desath
2) Sound
3) Ash
4) Cold
Correct Answer: Ash
QID : 2- Inthefollowing question, select the related word pair from the given alternatives.
Players: Team::?:?
Options:
1) Car : Group
2) Ship : Fleet
3) Airplane: Fligh
4) Pen : Heap

Correct Answer: Ship : Fleet



QID : 3-Inthefollowing question, select the related letters from the given alternatives.
GLOR:FILN:: TWQK :?

Options:

1) SUNG

2) SUMG

3) SUGN

4) SUGM
Correct Answer: SUNG

QID : 4 - Inthe following question, select the related letters from the given alternatives
GHI :DFH::LMN:?

Options:

1) IMK

2) LM

3)ILM

4) IKM
Correct Answer: IKM

QID : 5- Inthefollowing question, select the related number from the given alternatives.
8:512::6:

Options:
1) 216

2) 312
3) 408

4) 512
Correct Answer: 216

QID : 6- Inthe following question, select the related number from the given alternatives.
122:145::226: 7

Options:
1) 255



2) 256
3) 257

4) 259
Correct Answer: 257

QID : 7 - In the following question, select the odd word from the given alternatives.

Options:
1) Skin

2) Lungs

3) Heart

4) Kidneys

Correct Answer: Skin

QID : 8- Inthefollowing question, select the odd word pair from the given alternatives.
Options:

1) Ink : Inkpot

2) Bottle: Wine

3) Tea: Cup

4) Water : Jug

Correct Answer: Bottle : Wine

QID : 9- Inthe following question, select the odd letters from the given alternatives.
Options:

1) GIM

2) PSV

3) MPR

4) KNQ
Correct Answer: MPR

QID : 10 - In the following question, select the odd letters from the given alternatives.

Options:
1) MT



2) CJ
3) SZ

4) FN
Correct Answer: FN

QID : 11 - Inthe following question, select the odd number pair from the given alternatives.

Options:
1) 11 -44

2)12-72

3) 13-52

4) 14-48

Correct Answer: 14 — 48

QID : 12 - Inthe following question, select the odd number pair from the given alternatives.

Options:
1)5-30

2) 12 -84
3) 11-66

4) 8-48
Correct Answer: 12 -84

QID : 13- Arrange the given words in the sequence in which they occur in the dictionary.
1. Rangle

2. Regd

3. Royal

4. Room

5. Rested

Options:
1) 15432

2) 45312

3) 12543



4) 13542
Correct Answer: 12543

QID : 14 - Arrange the given words in the sequence in which they occur in the dictionary.

1. Soul
2. Strain

3. Syrup
4. Sand

5. Strained
Options:
1) 41253
2) 42153
3) 54312

4) 45312
Correct Answer: 41253

QID : 15- A seriesis given with one term missing. Select the correct alternative from the given
ones that will complete the series.

GD, DI, AP, XY, ?
Options:

1) UH

2) 1U

3) ST

4) UJ
Correct Answer: UJ

QID : 16 - A seriesisgiven with one term missing. Select the correct alternative from the given
ones that will complete the series.

WVU, TSR, QPO, ?

Options:
1) NML

2) LMN

3) LMK



4) KLM
Correct Answer: NML

QID : 17 - Inthe following question, select the missing number from the given series.
1,1,34,5097,16,9 25 11, ?

Options:
1) 17

2) 36
3) 49

4) 37
Correct Answer: 36

QID : 18- Inthe following question, select the missing number from the given series.
?, 5,15, 45,113

Options:
1)1

2) 2
3)3

4) 4
Correct Answer: 3

QID : 19 - 6 people are sitting in arow. A is sitting towards immediate left of B and immediate
right of C. Cissitting to immediate right of F. D isimmediate right of E who is to the left of F,
then which two people are sitting in the center?

Options:
1) Dand B

2) Aand B
3)Fand C
4) Eand D

Correct Answer: Fand C



QID : 20 - Sunil's position from the left in arow of boys is 20th and Deepak’s position from the
right is 36th. After interchanging their position, Sunil becomes 28thfrom the left. How many
boys are there in the row?

Options:
1) 52

2) 63
3) 59

4) 48
Correct Answer: 63

QID : 21 - Vikram started from point R and walked straight 7 km west, then turned left and
walked 2 km and again turned left and walked straight 4 km. In which direction is he from R?

Options:
1) North-East

2) South-West
3) South-East
4) North-West
Correct Answer: South-West

QID : 22 - In the following question, select the word which cannot be formed using the letters of
the given word.

Liberation

Options:
1) Rétio

2) Aion
3) Bear

4) Liberal
Correct Answer: Liberal

QID : 23 - In the following question, select the word which cannot be formed using the letters of
the given word.



Deliberate

Options:
1) Dilate

2) Tall
3) Betray

4) Elated
Correct Answer: Betray

QID : 24 - In acertain code language, "SATURN" iswritten as"JVQXWW" and "URANUS" is
written as"OYJENY". How is"JUITER" written in that code language?

Options:
1) NIPMQN

2) NIPMYF
3) NQMPIN

4) FYLMPI
Correct Answer: NIPMQON

QID : 25 - Inacertain code language, "CAGES" iswritten as"NADYB" and "SILVER" is
written as"LZRIGR". How is"WATER" written in that code language?

Options:
1) MAQYV

2) SGWEB
3) QCPVR

4) VY QAM
Correct Answer: MAQYV

QID : 26 - If "B" denotes "multiplied by", "C" denotes "subtracted from", "A" denotes "added
to" and "D" denotes "divided by", then which of the following equation is true?

Options:
1)24D12B3A12=18

2)36D6B3A2=74



3)42A7B2D2=35

4)56D14B2C4=12
Correct Answer: 24D 12B3A 12=18

QID : 27 - If "-" denotes "divided by", "+" denotes "subtracted from", "x" denotes "added to"
and "+" denotes "multiplied by", then

4+16%x5+4-2=7

Options:

12

2) 43

3) 22

4) 67

Correct Answer: 67

QID:28-1f38#49=24and 96 #51 =21, then 87 #78="7

Options:

1) 26

2) 21

3) 28

4) 30

Correct Answer: 30

QID:29-1f27* 4=77and 31* 9=239,then21* 6="?

Options:

1) 94

2) 107

3) 99

4) 106

Correct Answer: 99



QID: 30-

In the following question, select the number which
can be placed at the sign of question mark (7) from
the given alternatives.

Arafaf@a oy # v or Reeear & @ oy Ree

(?) & FUTH UT A arell HEAT & Fiaw|

8

4

12 3
4 2
Options:
1)1
2)2
3) 4
4) 12

Correct Answer: 2
QID:31-

Options:

1) 12

2) 24

3) 26

4) 29
Correct Answer: 29

.

9

8

3




QID: 32-
How many triangles are there in the given figure?

& T Il F feaet g &2

X ;
E‘x f / \ ;’f
X X

LY
Y

Options:
1) 6

2)7
3)8

4) 10
Correct Answer: 7

QID :33-
Options:

1) 10

2) 11

3) 12

4) 14

Correct Answer: 11

QID : 34 - In each of the following question below are given some statements followed by some
conclusions. Taking the given statements to be true even if they seem to be at variance from



commonly known facts, read all the conclusions and then decide which of the given conclusion
logically follows the given statements.

Statements:
I. No cups are plate.
I1. All plates are spoons.

Conclusions:

|. Some cups are spoons.

I1. Some spoons are plates.
I11. Some plates are spoons.

Options:
1) Only conclusion (1) follows

2) Only conclusion (l11) follows
3) Only conclusion (1) and (111) follow

4) Only conclusion (I1) and (111) follow

Correct Answer: Only conclusion (11) and (I11) follow

QID : 35- In each of the following question below are given some statements followed by some
conclusions. Taking the given statements to be true even if they seem to be at variance from
commonly known facts, read all the conclusions and then decide which of the given conclusion
logically follows the given statements.

Statements:

I. All men are hardworking.

I1. No advocate is hardworking.
I11. Some beautiful are men.

Conclusions:

|. Some beautiful are hardworking.
I1. Some advocates are not beautiful.
[11. Some beautiful are not advocate.

Options:
1) Only conclusion (I11) follow

2) Only conclusion (1) and (111) follow

3) Only conclusion (11) and (111) follow



4) Only conclusion (1) and (1) follow
Correct Answer: Only conclusion (1) and (111) follow
QID: 36-

Options:
1)4or5

2)5
3) 4
4) 3

Correct Answer: 5

QID: 37-
Three positions of a cube are shown below. What

will come opposite to face containing "*'?

& o ug i 1T raEArT R T § %
s Toleh & TaUdd T HTA?

i, + &
T — % % o T
;J___.-"
Options:
1)1
2) %
3) +
4) &

Correct Answer: &



QID: 38-

In the given figure, which number represents male
cricketers who are adults but are not tall?

& w§ gl A, FlF @ I W g B S
TUTF ¢ kT oIF F81 &, ol AT &7

g /__—__\x\
e | : \  Cricketer/
GpIEs (2] 1
‘ 8 \z Rrdrex
Maless L | 44T
— D
g3g
/ 6 j«—— Tall/ea=n
Options:
1) 3
2) 2
3)8
4) 4

Correct Answer: 2



QID: 39-
In the given figure, which alphabet represents gel
pens which are not blue?

&I g HTFIT H, P T HeW 0F/ FAA U AT A
el €, & gAMAT §?

/ a \«— Pens/de

/&,____,_f‘ )g <— Blue/dram

/ \;_ Gelider

Options:
1c

2)d
3)h

4)b
Correct Answer: ¢



QID: 40-
In the given figure, which number represents steel
bottles which are caps?

&r 7% HPpa A, FiF T 3F U sEaT aide S
SiftraT € &Y oRifar &2

Bottles/ =Y,

2 163\ / Ex=vir
Cap/ardr —» 6 o “/

Options:
1) 2

2) 4
3)3

4) 6
Correct Answer: 3



QID: 41-
Which answer figure will complete the pattern in the
question figure?

Pl W 3 AP U FFia & ufasa & oI
FHLn?

o~ D
N/

Options:
1)

Correct Answer:




QID: 42-
Which answer figure will complete the pattern in the
question figure?

Pl € T HFIA IH JFia & ufasa & g
HLM?

7az
NS

Options:

g
8
>
:

Y




QID: 43-
From the given answer figures, select the one in
which the question figure is hidden/embedded.

& 7% 3O WEaE A ¥ 37 IR g # g
e & ux agpfa @fea &

S%

O ptions:
1)

[

LI"\..J

2)

Z

3)

NS
B

4)

s

Correct Answer:

b’o




QID: 44-
From the given answer figures, select the one in
which the question figure is hidden/embedded.

& 7F 3R HFEA # W 3H I AP A gEaw
o & uy a3l BRa &

4




Options:
1)

2)

3

X

4)

\VA

Correct Answer:

%




QID: 45-

A piece of paper is folded and punched as shown
below in the question figures. From the given
answer figures, indicate how it will appear when
opened?

@ & uy gladl #A REmw HGER Fe &
HERT O JUT Wiele & 98 g% TRE 397 Aiga
star fgarg gam?

]| | A | A




O ptions:
1)

2

3

RIRIEIRIE

4)

Correct Answer




QID: 46-
A piece of paper is folded and punched as shown
below in the question figures. From the given
answer figures, indicate how it will appear when
opened?

A & wH HPadl A W FgER Fee #
ARy g IW Wad & I 98 P9 397 Y
St s Zame

e

20

Correct Answer: [ Mo Correct Answer |



QID: 47-
If a mirror is placed on the line AB, then which of the

answer figures is the right image of the given
figure?

afy T ZUOT # AB T W @ AT, & & 7S
IO WGl # ® ol O wgpfa ww gl &

7|




Options:
1)

—t

2

3

)

4

(=)

Al BN LA |

Correct Answer:

%




QID: 48-
If a mirror is placed on the line AB, then which of the
answer figures i1s the night image of the given
figure?

afy v gdor & AB @1 W @ Am, & & 9

39T Figaat # ¥ @l @ agfa oy sy
Tdr ufafass anfre

a




Options:
1)

2)

3)

1)

| || (| [P

Correct Answer:

n

QID: 49-



A word is represented by only one set of numbers as given in any one of
the alternatives. The sets of numbers given in the alternatves are
represented by two dasses of alphabets as shown n the given two
matrices. The columns and rows of Matrix-l are numbered from 0 to 4 and
ihat of Matrix-ll are numbered from 5 to 9. A letter from these mainces can
be represented first by its row and next by its colurmn, for example, ‘D’ can
be represented by 11, 42, etc, and 4" can be represented by 68, 99, etc
Similarty, you have to identify the set for the word “NOSE”

UF e FOW TF WEA-HAE o guim gmm B St B fewwt & @
forelt v 3 Rm o & Rwveut & Ry v Fem-weE et & 2 oot
arr gefe e §, Sk B Re aw @ wmeggd A B wegpl § owoen i
afts # FEar 0 # 4 § 3R wgpdl H1 5 F 91 59 HRYE ¥ 0F Hew A
aed sudh ofte 3R ag & T F@Em e/ gt J1 @ § sEER
& e D @ 11, 42, W grr gl S G & & T @ 68, 99,
iy grn g 31 waan B s WE & uw un & RBu weg "NOSE”
& foe @aE & opaeEn B

Matrix-1 Matrix-1i
mqy—l ﬂ-ll
Dli1(213]|4 5l6|7|8]9

D[LIA[N|C|D SIE|IIICIP|S

1|0|D|{LIAIN 6{P|[S|E]I]C

2 AN |O|D|L [ T[T|C|P|S|E|

B (D[L|A[N|O (B|S|E[T|C|P

4 |N|[O|D|L[A O(C|[PISI|El]

Options:
1) 21, 10, 78, 98

2) 13, 22, 66, 56
3) 02, 34, 59, 68

4) 41, 42, 85, 86
Correct Answer: 21, 10, 78, 98



QID : 50 -

A word is represented by only one set of numbers as given in any one of
the altematives. The sets of numbers given in the altematves are
represented by two dasses of alphabets as shown in the gven two
mainces. The columns and rows of Matrix-l are numbered from 0 io 4 and
that of Matrix-ll are numbered from 5to 9. A letter from these matrices can
be represented first by its row and next by its column, for example, ‘S can
be represented by 10, 34, etc., and “Y' can be represented by 57, 95, etc.
Simitarly, you have to identify the set for the word “PARK"™.

T UeE ¥ UH HEA-HAR oW guim o ¥ St B feent & @
o o & e o &) Roet & e v semaey send & 2 oot
T gvie T & S B Rw ow @ ey @ ¥ W o i
afis 1 FEa 0 & 4 ¥ 3 swegedl 1 5 & 91 59 wEgEl & UF WaR @A
urd WA ufi MR @ & e HE GRSt S A@EaT 1 S
& faw s @110, 34, wfe oo gubar o @ & @ Y- @ 57, 95,
e GRY guiin 3 Awan &1 S e @ Wue 9 # By weg "PARK'
¥ faw waE & opawn B

Matrix-| Matrix-Il
- el
O[1[2[3[4 516[T|8]9]

O|P[T|A[S|E| 5| K[I|Y|C|R]

TIS[E|P[T|A (B|CIRIK[T[Y

2IT|A[S|E|FP] TIT[YICIRIK

(S[E|P|T|A|S| BIR|K[T|Y|C|

4 A[S[E|[P|T] (9| Y|C|R[K][I

Options:
1) 13, 14, 85, 55

2) 31, 02, 78, 98
3) 23, 22, 66, 67

4) 00, 40, 59, 78
Correct Answer: 31, 02, 78, 98



